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gbooobgoboooobg

1 O0O00O00bOobooobooo

1.1 OODOO0OO0O0OOd

0000 (00000)000000000000000000000000O00O00O00O0O0O00OO0
OcCcooooo progl-l.cDDDDDDDDDDDDDDDDDDDDDEOF(DDDDDDD)IDD
ooboooobOOoboO0oobOoobOobOO0oobObDOoboOoOobOo 100D oobOoboOobOooOoobooo
oooobooboboobooboboooo

gboobooobooobooboboobooooboobooooboobooboooboooboobo

00000 (1) 00D0O0O000O0ODO0OO0O0O0ODOODOOOOO

(2) 0000000000 O0OO0OO0ODOOOOOODOODOOOUOOO

(3) 0000000000000 0O0O0O0D0ODOO0ODOO0O0DOODO0ODODOODODODO
gooobooboboobobooboobobooob

(4 000000000000 0O0O0O0OODOO0ODOO0ODOOLOODODODODODOOO
gogono

000000 (1) 00000 mex 0O newdOOODOO

(2) 00000000 max 0000000 D0OUOOOOO (DODOODOODOO)DOO
gooobooobo

(3) 00 2000000000000

(3-1) D0DU0O0O00O0O newODODOODOOODOOODOOD (DOODDLDODOODO)
goooboooobgon

(3-2) new 0 max 0000000 0new > max 0000000000

(3-2-1) new 0D 0O max 000D OO

(4)max 00000 0ODOOOOOODOOO

0000 (1) scanf U printf 000000000000 0O0DOOOOOOODOODOOODOODO
ooooboobo 1oobooooo

#include <stdio.h>

(2) D00D0D00O0O0 main 000 OOOOO

int main ()

{

1UniX(LinuX)DDDDDDDEIEIEIEIEIEII:II] Control-D (000000 ODOOOOOOD DODOD)ODODOOOOODO
0000 (D0)oooooooooo



(3)
(4)

(8)

return O;

gooobb int 0000

00000000D00D0O0000 scanf 00DOO0ODO (int 0)0D0O0O0ODOO
O000O0 "4 0000000000 &¢0000scanf 00000000 %O
O0000000000ooooooo0o0O0O00Oscanf("%d", & .0 0 100
goooobooobobooboobobooboobboobuoobooobooo
00 scanf 0 0000000000 (0DDO0OD)00000O0OO0OOODOOOOO
ooo0dDb EOFO0ODOO

gggboooboooobbbuog ifoggooboodg
O000O00O0O0DO0OD0D00O0 exitO0ODUO0ODO0ODO0O exitOODOOODO

00D0DO0oo0oDoooo0o 100000000

#include <stdlib.h>

00000000000 0D0D0D00O0exit(EXITSUCCESS); DOOODODO exit
Uod0dd EXIT.SUCCESS UUUOUOOODDOOODODOOOO0O EXIT.FAILURE U
000000%00000000000 exit 000DODDDDOOOOOOOO
000000 main UDOO00OOD0D0ODOO0DO0D0O0 return 000000
googoo

000000000 whileOOOOOwhile (1) { ... 30000000000
Oob0o0ooobobDOoOobDDbO bpreak DOO0ODDOOODODOOOODOOODODO
oogd

while (scanf("%d", &...) ==1) { ... }

ggooobboogaooo

00000000 printf OO O0ODOODO

{

#include <stdio.h>
#include <stdlib.h>

int main ()
int max, new;
printf ("0 0000000000 =>");
if (scanf ("%d", &max) != 1)
exit (EXIT_SUCCESS);

while (1) {

progl-1.c OD0O0O0OO0OO0O —

2stdlib.h 0O O DEXIT_SUCCESS 0 0 OOEXITFAILURE 0 1 000000 #define 0000000000 DOODN

gooooo



}

printf("0 0000000000 =>");
if (scanf("%d", &new) !'= 1)

break;
if (new > max)

max = new;

printf ("O OO = %d\n", max);
return O;

1.2 00100000

progl-1.c 00000000 DO0ODOO progi-2.cU0DODDOODODOODOOO0ODOODOODO
gboooboobooboon

gooogo

gogo

gbooooo

(1)

(1)

(1)

00000 progli-1.cO000000O0OOOODOCO10000000DDOOOO
0000000 (00000 100)00000000DDO00DDOOoDODOOODOO
gboooboobooboogon

gbooobooboooon

(2-1) 0000 100000000000000000O00OO00ODOO0OOOOO0O
gooobooboboobooobooog

(2-2) 00D00D0O0ODO0OOOODO0OOOO0OODOOOOOODOOOOOOOOOO
goboobooobobobobooobooboo

gooooboobooboobooboobboobboooboboobboooboob
(0)0OO0ODO0OOO0DOO0ODO0OO0O0O0ODO0DO0ODOO0O (DoD)O0Do0OO0oDOooOODO
0000000000000 0O00 (D0obO)0000oDOOooDOoOoDOoOo (o
000)000000000000O0000D0O0D000O0O0OO0 (booOo)oooo
gogd

CO0000000000000000000000000O04int 00000000
0000000000000 000D00 (00 1)00000000000000
00 ' (0D)0& (DOD)O0I| (DOD)000000O0O00

00000 max 0 newO0O0O0OO0O0O0OOO0DO0OODOOD firstOODOOOO (1)0O
googoooon

o0 30000000b0oooo

(2-1) DODO00O0OD0O0 newOOOODODODOODODOODD (DDODOODOODO)
gooobgooobgoo

(2-2) 00 first 000000

(2-2-1) new 0D max 0O OO0DOO
(2-2-2) first 00 (0)000000



(2-3) O0D00O0OO0O0O0O0O new >max 000000DO0DOO0O

(2-3-1) new 00D max 0O OO0DOO
(3) first 00DDOOD

(3-1) max 0O00O0ODOO0OO0DOOOODODOOOD

progl-2.c J0OODODOOO —
#include <stdio.h>

#define TRUE 1
#define FALSE O

int main ()
{

int max, new, first;

first = TRUE;
while (TRUE) {
printf("0 0000000000 =>");
if (scanf("%d", &new) !'= 1)
break;
if (first) {
max = new;
first = FALSE;
}
else if (new > max)
max = new;
}
if (Ifirst)
printf ("O OO = %d\n", max);
return O;

1.3 0OO0OO00DOO

00000000000 DO0O0DO0O0 (DOO0DD)0D00D0O0DO0ODODO0ODODOOODOOODO
0000000000000000000000000 CO000O0 progli-3.c 00DOODODOO
ocooooooooOobo 20000000000 DOOoO0O0DO0O01l0DO0OOO0oOO0OoOODOOOoDOO
gbooogbobooobuoobobooboooboon

progl-3.c DOOO —

$1542h017% ./progl-3
goooo0o0ogobobog = 456
gooooooboboog = 345
oooooooooboo =87
gbobdgooobon = 234
gbooobogobogooon =652
gooboooooobooo =45
goobooooooobo =,
o0 =45, 000 =303.17, O OO = 652
s1542h017% ./progl-3
goooooooooo =45
goobooogooobooo =




ogognd =45, 000 =45.00, OO0 = 45
s1542h017% ./progl-3
gogooooooooo =,

s$1542h0177%

googo

obooooo

gogo

(1)
(2)

(3)

(4)

(1)

oooobOol200l00obooogooboooon

goooobobbbbobbbOo0oooooooobbobbbbbbobobbobb
oboooboobobobooobobobobooboboobDon

ooo0oo00ooOoU0oOoOdoUobooUoUoooOoOooD 40000DOoOOoOoOoOooo
gobooobooobooobooboboobooboboboboobbooboon
oooobooboboobobooobooboo

gooolbo0oooboooobooboobooboobooooboo

00000 maxOminO sumdnewOnum OO0 O00O0OOO
sum O num O OOOOOOOO

oos00000ooboooog

(3-1) D0DO000D0O0 newOOOODDODOODODOODD (DDODOODOODO)
ggooboooogod

2) 00 num 0 00000 new<min OOOO new 000 min 000000
3) U0 num 0 00000 new>max D000 new D00 max 00O 0ODOO
4) sun 0 new D00O0DD00
5)

num 000 10000

nimd 00000000 0minO000sum 0 numO0000O0Omax 000000
O000000000o00ooooooooooooao

goboooooboopoobobbooooboboooboboobobboooboo
0o0o00obo0obOobDbb int 000000 00bDOon

ooo0o0obo0bo0bo0ob0o0b0o0b00dbDint 0000 num O sum O
ggoboobooooboboboooobbooooon

printf ("%.2f\n", (double)sum/num);

0000b000O0bO020000000000000

00 (double) 0 (00ODDOO0ODDOO)0000O00O0DODOOODDOOODOO
000000 (double)sum 00O O00int 00 sum 000 double O (DD OO
000ooo0)0o0oo0o0000000000000000000000000D000
doooooood@oo)ooooooooon



2 0000

(4) DOOD (double)sum/num 00O O O0double D000 int 00D DOO00O0O
odbbbO0dd0Odouble U0 int 000D O0O0O0ODODODODiIntOODOOO
00000 double 00 0DO0DOO0D0ODOOODODODODO (double 0)OO
000000000000 (double)sum/num O (double)sum/(double)num O
sum/ (double)num OO0 OO0 O0O0O0OCOO0ODO0O

(5) printf 00O DOODOODO "%.2f" O0double ODOODDOODOO 200000
00000000000 00o00oooooo3ooonooooooog "%.3£"
googoogo

00000000000 0000D000000O /home/sample/mprog2/setup 0 rehash 0 20
oo0do0ooo0oooodoooodoooo00Imooooooooooooooogooo

gooooooog —,

s1542h017% /home/sample/mprog2/setup
Oo0oo0oo0oo0oOooooUoIIocoooooooooo

s1542h017% rehash
s1542h017Y,

UbooooooobOobooooboobOoboin prog2 000OO0ODOODOODOOOOOODOODOO
OoooooOoOoo IIODoO0O0O0O000D0DO0ODO0O0OD0O0O00 Progz0000OODODOOODODDODODOO

gboooog

gd0Oo00ooO0oOoU0DOOo0ooOOoO0OodOoo0oO0ooO0OooUOUoOUUDOo 200b0oOUODOOOO

gogno

2.1 progl-3.c

0130000000000000 progi-3.cO0000DOOOO0ODOOOODOOOODOOO
ooooboobobooobooo

Uoo0ooboooboobbooob mprog2 U0 DUO0ODOODODOOO0DOODODOODDOOODO

gbooooooo

$1542h017% mprog2 progl-3.c
progl-3.c D U0OODDODOOO0OOO0O DOoOUOOODOOOOO

0o0o000 progl-3.c 0000000 ...000000000000O00O0DOCDOO

s1542h017%

progl-3.c D0OODOO —

000000 progl-3.cO0000C000C0OODODODUOD okODODDODOODDODDODODODODOO
goooobobooobbooobboobboobbo0obb0o0obib0U mprog2 0O DOOODODOO

gboooog



2.2 prog-1l.4c

progl-3.c U progl-4.c000000 (0DODODOD)000D0ODOUODODODOOOODOODOO
gooobbobbbbbodooooouooouuoobobbbooooouooobooobobobbobbo
gooooboobdoogobbbood == 0o oooooooboobobobon
O300000000oboooooo

oooao (1) 000000000 doubleOO0OOOOO0OOOOOOOOOO
scanf ("%1f", &new);

00000000000000(0000000)0 double 0000 new OO0
O00000000Oscanf 0O000OOOOO0O "f" 00000 ",1£f" 0000
goooo

bboobuodbibdibOprogl-3.c0UU0O00UOOmprog2 UL DUUDOUOODOOOODOODO
gboooboobooboobooon

3 00OODOO

1. 0000 (Do000)000000000DO0O0O0OO0O0DDO0O0DO0ODOOODDOODOODOOD
gooooboboobobooboboooboobobooobooon zy,ze,2s,...,20 OOODOO
o000 mnO000O0O00O0DOODOOODOO0ODODOO oO

gooooooo

2.000000D0COCO000DOOO00DOOO0ObDObOUOUObODOO



